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1. The other refers to the road that the speaker chose to travel.

2. By just as fair the poet means that the road that he chose to tread on
appeared to be just as inviting and as beautiful as the other road that was
chosen by the majority.

3. The poet chose the other road because it was more grassy and less worn out
than the other. Thus, being adventurous, he was tempted to take it as it
seemed to be less travelled by people.

(1x3=3m)

1. Margie found it strange that the words printed on a book stood still instead of
moving the way they did on a screen. She also found it odd that the words on a page
always remained the same as the first line they were read. Besides the idea that
someone would write about a school was itself strange for Margie.

2. Margie and Tommy had mechanical teachers . They were large and ugly and had
large black screen on which all the lessons were shown and questions were asked.
These mechanical teachers had a slot in which the students had to write their
homework and test papers. They had to write their answers in a punch code and the
mechanical teacher calculated the marks immediately.

3.Margie was doing badly in geography because the geography sector of the
mechanical sector had been geared a little quick. The county inspector rightly told her
that she could not be blamed for her poor performance. The county inspector slowed
down the geography sector to an average ten year old level.

4. The traveler finds himself in yellow wood where the road forks into two. The
problem that he faces is that he cannot decide which road to take to continue his
journey since it is not possible for him to travel both roads at the same time.

(2x3=3m)

Content -4, Accuracy-2, Expression -2

(1x8=8m)
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